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Class 10 Maths
Chapter 9
Ex 9.1



Write the first terms of each of the following sequences whose n™ term are

@)
()
(1)
(iv)
)
(v1)
(vii)
(v)
(ix)
Sol:

We have to write first five terms of given sequences

@

a,=3n+2
n-2
W=7
a, =3"
3In—2
an =—
a, = (—-1)"2"
_ n(n-2)
nT 2

Gn=n*—n#1l
a,=n*-n+1
2n-3

n="g

Gi=3In12

Given sequence a, =3n+2
To write first five terms of given
a,=(3x1)+2=3+2=5
a; =(3x2)4 ~

az; =(3 x
as=1(3 x4



11 a, =—
@) ="

. n—2
Given sequence a,, = g

. i ‘ n—2
To write first five terms of given sequence a, = e
putn=1 2 3, 4.5 then we get

1-2 2-2

-1
1 ==, = ——==}

5 g ek g
g i X o EA 2

S R e T TR

Bi=si 3

e =

g

. . n—2 =1 12

= The required first five terms of given sequence a, = are -, 0,27, 1

(u) a,=3"
Given sequence a, = 3"
To write first five terms of given sequence. putn=1. 2. 3. 4. 5 1n given sequence.

Then.
a; =3'=3;a,=3%2=9;a, = 27;a, = 3* = 81;a = "95=2243.

9 an—-2
(i) a,= =
. in—-2
Given sequence. d,, = S

In—2
3

To write first five terms. put n =1, 2. 3. 4.5 in givenSequence a,, =

Then, we ger

3x1-2 =2 1
alz = —
5 5 5
3x2-2 6—2 4
,ﬂ_2= ———
5 5 5
3x3-2 9-2 7
a3= — i —
3 5 5
Ix4-—2 12-2 10
a4= e e — T
3 3 3
3x5-—-2 15-2 13
aE— — ——
3 35 5

: 147 10 13
=~ The required first five terms are et el e



(v)

(vi)

By={=1)"2"
Given sequenceisa, = (—1)"2"

To get first five terms of given sequence an, putn=1, 2. 3. 4,

a; =(—1DL.2'=(-1).2= -2
a, =(—1)2.22=(-1).4= 4

a, =(-1)3.2*=(-1).8= -8
a,=(—-1*2*=(-1).16 = 16
as = (—1)°.2°=(-1).32= —32

~ The first five terms are -2_ 4. -8. 16. -32.

nin—2)
Ap =
2
. p n{n—22)
The given sequence is, a, = ¢ -
; = ; n{n—2)
To write first five terms of given sequence a,, = 5
Putn=1, 2, 3. 4. 5. Then. we get
]1-2y 1-1  —1
a’l e R e e
2 2 2
2(2—2)
2
3(3-2 3.1 3
2 2

5



(vii)

(wii1)

(ix)

_4a-2) 42

= —=4
4 z 2

__5(5-2) 53 15
B m @ 3

: =
= The required first five terms are L

a,=n*—n+1

The given sequence is, @, =n*—n+1

To write first five terms of given sequence @,y we getputn=1, 2, 3. 4. 5. Then we
getig; = 12 —=T¥F1=1

gl 1= 3

;=3 =3+1=7

=24 F 1= 13

G =5*—5+1=21

~The required first five terms of given sequence @, =n*—n+ lare1.3.7,13.21

a,=2n>-3n+1

The given sequenceis a, = 2n* —3n+1

To write first five terms of given sequence a,, we putn=1. 2, 3. 4. 5. Then we get
a,=21>-31+1=2-3+1=0

a,=222-32+1=8-6+1=3

a,=23>-334+1=18-9+1=10
ay=24>-34+1=32-12+1=21

a5 =25—-35+1=50—-15+1=36

< The required first five terms of given sequence a,, =212 — 3n + 1 aee0, 3. 10,
21. 36

H = Zn—3
nT s
. . Zn—3
Given sequence is. @, =
6
To write first five terms of given sequence weputn=1, 2. 3. 4, 5. Then, we get.
21-3 2.3 @R 1
al = = — =
6 6 6
22-3 43 1
a; = ===
[ 6 &
24-3 _8-3_5
ag — e s
a (=] (=]
g, 243 82 s
T 6 T 6 6
25-3 _ 10-3 7
as = B — i
6 =] b
. . -3 -11157
~ The required first five terms of given sequence a, = —"—are —,~,=,~,~



(111)

(iv)

v)

Find the mdicated terms in each of the following sequences whose nth terms are:
(1) a, =5n—4; a5, and a5
.- 3n—2
(i) a,= o @7 and ag
(1) a,=n(n—1)(n—2): as and ag
() a,=Mm—-1)(2-n)(3+n);ay az as

(v) an, = (—1)"n;as, as, ag

Sol:
We have to find the required term of a sequence when n™ term of that sequence is given.
(i) a, =5n—4;a,, and a,s

Given n' term of a sequence a,, = 5n — 4

To find 12% term. 15 terms of that sequence. we put n=12. 15 in its n™ term.
Then. we get

a;;, =512—-4=60—-4=56

@ =515—4=15—4=71

 The required terms a,, = 56,a,5s = 71

- 3n—2
(i) a,=——:a;andag

4n+5
Given n term is (ap) = -2
4n+5
To find 7, 8 terms of given sequence. we putn=7. 8.
_ (3P-2 19
7T @m+s 33
_(38)-2 22
8 48)+s 37

; 19 22
+ The required terms a; = - and ag = -

a, =n(n—1)(n—2): as and ag

Given n®termis a, = n(n — 1)(n — 2)

To find 5%, 8™ terms of given sequence. put n= 5. § in an then. we get
as = 5(5 — 1). (B— 2) = 5.4.3= 60

ag =8.(8—1).(8=2) =876=336

=~ The required terms are as = 60 and agp=.336

ap, =(n—1)(2—n}3+n)a; a as

The given n® termis a, = (n + 1)(2= n)(3 +n)

To find a4, a,, a; of given sequediecputn=1,2. 3 isan
a;=(1—-1D2—-1DGE+1030.1.4=0

dy= {21323+ W=105=10

ag= {3 =1)(2—3)(3+3) =21 6= —13

+ The required terms a; =0, a; = 0. az = —12

an = (—1)"n;as,as,ag

The given n® term is. @, = (—1)™.n

To find a;. as, ag of given sequence putn=3. 5. 8. in an.



a;=(-1)2.3=-13= -3

as =(—-1)°.5= —-1.5= -5

a; =(—1)*=18=18

~ The required terms @3 = —3,8; = —5,a3, =8

3. Find the next five terms of each of the following sequences given by:

(1) m=1la,=a,;+2. n=2

i) a=a=2,0,=t0,,~3n1>2
() ay=-la,=22nz2

(wv) a=4a,=4a, ,+3.n>1

Sol:
We have to find next five terms of following sequences.
(1) a,=la,=a,,+2. n=2
Given. first term (a1) = 1.
n®terma, =a, ; +2,n=2
To find 2™, 3% 4% 5% 6™ terms, we use given condition n = 2 for n® term a,, =
Qp 1+ 2
;=0 3 +2=0a;+2=14+2=3(«xa;=1)
Ay =03.;+2=a,+2=3+2=5
Q=04 4 +2=0a3+2=5+2=7
;=05 1 +2=a4+2=7+2=9
g =0¢y+t2=0a5+2=a+2=11
~ The next five terms are,
a; =3, a3 =5ay=7,a5s=a,as =11

i) a=0=2a,=a,,—3.n>2
Given.
First term (a,) = 2
Second term (a;) = 2
n® term (a,) = ap_y — 3
To find next five terms i.6.. as, a,, s, g, 0, We pUt.n =3.4,5.6.7is i,
a; =dg ;—3=2-—3= —1
a,=04 1—3=03—3=-"1-3=—-4
s =0s_1—3=a4—3=—4—-3=~7
g =0g_1— 3 =0a5—3=—-7—3F=—10
; =0;_ 41— 3=dg—3=—MW3 =-13
~ The next five terms are, Az =*<1,a, = —4, a5 = —7,8, = —10,a; = —13

o

o,

() @,=-La,=2",n>2

Given. first term (a,) = —1



. an—1 .
n® term (a,) = ==—,n =2
) n
To find next five terms i.¢.. G5, 04, Ay, A5, Qg Weputn=2.3.4. 5, 6 is an
s a -1
a, = i R S
2 2 2
f's P s —1f2 =1
aa =_3 2 — —":—'I" i —
3 a 3 3
- . a. —-1/6 =71
a, = 4-1 _ %2 __ / e T
4 4 4 24
[ Qg —-1/24 -1
a5 == e e
5 5 5 120
~ The next five terms are.
R R S g T
27 23T g T 9t TE T 4007 8 T 720
(iv a,=4a,=4a, ;+3n>1
Given.

First term (a1) =4

n® term (a,) =4 a,_, +3.n>1

To find next five terms i.e.. Az, Az, A4, A5, dg Wweputn=2.3. 4. 5. 6is a,
Then, we get

a,=4a, ;+3=4a,+3=44+3=19(~a,=4)
a; =4a3;+3=4a;+3=4(19)+3=79
a,=4a4 1 +3=4a3+3=4(79)+3 =319

g =dae gt 3 =40, +3=4319)+3=1279

g =4.a¢ 1 +3=4%.0as+3=4(1279) + 3=5119
 The required next five terms are.

a, =19,a, = 7%, a, = 319,a5 = 1279,a, = 5119



